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&S X 4 Er%r'n‘c; ‘Fﬁb\(‘z)@ﬁﬁ%’é jj(gilzcn:é)é Z 4 'Fﬁﬁﬁg\ézg;kzlz _('%r_n_c)k jj(lfifn?)é Z 4 ﬁf J:ﬁﬁb\(‘:)o)tt'.%' jj(lfifn?)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.%' ‘(.%.r'g jj(lf;itl’:f)é
7 100kN/m%E#8Bz5| 1.00 | 000 ~ 266 141.83 |3mEBZB| 000 ~ 083| 3.55 17.94 | 100kN/m%#825 | 1.00 | 11.45 ~ 4333 | 141.83 |3m&ERBZB| 20.00 ~ 4333| 3.35 17.94
s 1.00 | 266 ~ 1044 100.00 | #nlst | 0.88 ~ 1044 3.00 16.05 st 1.00 | 6.00 ~ 1145 100.00 | =nst | 5.00 ~ 4000 3.00 16.056
2 100kN/mM#E#BZ5 | 1.00 | 000 ~ 319 150.97 |3mZ#BZ 5| 000 ~ 1.07| 348 18.63 | 100kN/miZ#825 | 1.00 | 1080 ~ 4364 150.97 |3mERBZB| 3000 ~ 43.64| 3.48 18.63
s 1.00 | 319 ~ 1097 100.00 | =nhst | .07 ~ 1097 3.00 16.05 st 1.00 | 6.00 ~ 1080 100.00 | =nst | 6.00 ~ 3000 3.00 16.056
3 100kN/mi%E#2% | 1.00|0.00 ~ 299 147.46 |3mZE#EZB| 0.00 ~ 096 | 3.42 18.31 | 100kN/mi%#825 | 1.00 | 11.03 ~ 4564 | 14746 |3mERBZB| 20.00 ~ 45.64| 3.42 1831
s 1.00 | 299 ~ 1077 100.00 | #nst | 0.96 ~ 1077 3.00 16.06 st 1.00 | 6.00 ~ 1103 100.00 | =nst | 6.00 ~ 4000 3.00 16.056
4 100kN/mi%E#2% | 1.00|0.00 ~ 269 142.37 |3m#Z Bz 5| 000 ~ 085| 3.36 17.99 | 100kN/m%#825 | 1.00 | 11.38 ~ 41.75| 142.37 |3m&ERBZB| 2000 ~ 41.75| 3.36 17.99
s 1.00 | 269 ~ 1047 100.00 | #nst | 0.85 ~ 1047 3.00 16.05 st 1.00 | 6.00 ~ 1138 100.00 | =nst | 6.00 ~ 4000 3.00 16.056
5 100kN/m%E#8z5 | 1.00 | 000 ~ 212 13290 |3mE#Bz% ~ -] 100kN/mZ#8z5 | 1.00 | 1238 ~ 39.77| 13290 |3mZ#Bz25 ~
s 1.00 | 212 ~ 9.91 100.00 | =nlhst | 0.00 ~ 9.91 | 2.81 15.03 st 1.00 | 6.00 ~ 1238 100.00 | =nst | 6.00 ~ 39.77| 2.81 15.03
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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